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Question Number : 1 Question Id : 79840725390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the first Prirme Minister of India to visit [srael?

Options:

1. ¢ Narendra Modi

2. % Aital Behari Vajpavyee
% % Manmohan Singh

4. % [nder Kumar Gujral

Question Number : 1 Question Id : 79840725390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
REPOS T L0G0H0R DG 2P0 DI o DDM?

Options:
| P00E A0

o % €6 DD e
- mSg.‘:mé ~oh

4 % 000 ard m@’ﬂj

Question Number : 2 Question Id : 79840725391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following persons is designated as global terrorist by US State Department at the time of recent
visit of Prime Minister Narendra Modi to TUSA7

Options:

1. # Salah Abdelsam

2. ¥ Moharmmad Yusuf Shah
% % Hafiz Sased

4. % Syed Mujahid

Question Number : 2 Question Id : 79840725391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
DD S0 DD, OO esTdSe BF DOERD DOCSGAT, LIRS S GG D05, DD

©90BT"A0H BN AT (B0 ?
Options:
2eTeTe @E@bﬁj
@

- PG 0RO ar

- 0 HoIPE

L% “’n)ﬂii.)ﬁtf} S0P



Question Number : 3 Question Id : 79840725392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat was the theme of the annual meeting of the World Econormic Forurmn held in January, 2017 at Davos?

Options:

1. ® The new Global Context

2. % Growth for sustainable developrnent
% % Managing fourth industrial revolution

4. ¥ Responsive and Responsible Leadership

Question Number : 3 Question Id : 79840725392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 79840725393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
what is the name of the place of recent border stand off between India and China?

Options:
1. % Alsai Chin

2 % Namka Chu
= ¥ Doklam
4. ® Langrola

Question Number : 4 Question Id : 79840725393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 5 Question Id : 79840725394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

who is the present Director General of World Health Organization?
Options:

1. % Dr M. Chan

=z % Dr T A Ghebreyesus

% % Dr Lee Jong - wook

4 # Dr G H Brundtland

Question Number : 5 Question Id : 79840725394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 79840725395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which carmaker company recently annouriced that it would malke only electric or hybrid cars from 201597
Options:

1. ¥ Daimler

2. % Renault

3. ¥ Volvo

4 ® BMW

Question Number : 6 Question Id : 79840725395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 7 Question Id : 79840725396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The International Avurveda Congress, 2017 was held at?

Options:

1. % London
2. % MNew Delhi
3. % New York
4. # Brussels

Question Number : 7 Question Id : 79840725396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 79840725397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
World Meteorological Day 15 celebrated every year on?

Options:

1. ¥ 21st February
= % 22nd February
2. % Z3rd March

4. % Z4th April

Question Number : 8 Question Id : 79840725397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 79840725398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Wwhat was the theme of the New Delhi World Eocok Fair, 2017 held in January, 20177

Options:

1. # Vividh Bharat: Diverse India

2. % Manushi: Writings on and by Wormen

Z. % Renaissance of Civilizations - Understanding through exchange

4. % Books: Doors opening for the future

Question Number : 9 Question Id : 79840725398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 79840725399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ev what narne Makar Sankranti festival is celebrated in Assarm?
Options:

1. % Maghi

2. % Uttaravan

3. % Kicheri

4. ¥ Magh Eihu

Question Number : 10 Question Id : 79840725399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 79840725400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the aim of Mission 41K of Indian Railways?



Options:

1. ® Torun 41000 trains every day without failure

2. ¥ Tosave Rs 41,000 Cr in Energy costs in next decade

Z. ® Toupgrade 41000 kilometers of track to high speed track

4. % Totrain 41000 emplovees every month to improve efficiency

Question Number : 11 Question Id : 79840725400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 79840725401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following States did riot join the GST regime before 1st July, 20177

Options:

1. ¥ West Eengal

2. % Tripura

% ¥ Jarmmu & Kashrmir
4 % Delhi

Question Number : 12 Question Id : 79840725401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 13 Question Id : 79840725402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AS part of Green initiative, Indian Mawvy installed solar power panels on board on?

Options:



1. % NS Vikramaditya
2. % INS Virat

3. % NS Kalvari

4. ¥ INS Sarvekshak

Question Number : 13 Question Id : 79840725402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 79840725403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is Eharat GQRY

Options:

1. ¢ Mobile payment app to scan merchandise code by custormer for instant transfer of money to merchant
2. % Cuality Regulation developed by EIS

3. % Defense ranging equipment

4. % Cuantitative Restrictions imposed by India on import of certain goods

Question Number : 14 Question Id : 79840725403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 79840725404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



What is chicken's neck of India?

Options:

1. % Poultry breed of India

2. % Narrow corridor which links West Eengal with North East
3. % Narrow mountain pass which links Siklkim with Tibet

4. ¥ Narrow strip of land between Ladakh and Tibet

Question Number : 15 Question Id : 79840725404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 79840725405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat was the theme of Indian Seed Congress, 2017 held at Kolkata?

Options:

1. # One seed - many fruits

2. % Seed for Developrnent

3. ¥ Seed of Joy

4. % Better breed with better seed

Question Number : 16 Question Id : 79840725405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 79840725406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What 15" Mission Xl mllion”®?
Options:



1. ¥ Mission of the Railways to train all its employees in etiquette
2. % Government of India prograrmme to bring 11 million farmilies out of poverty by 2022
3. ¥ Government programme to train 11 million youth in skill development by 2019

4. ¢ Government outreach programume to associate atleast 11 million persons to popularize football before
the FIFA Under - 17 World Cup 2017

Question Number : 17 Question Id : 79840725406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 79840725407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is the present Chairman of National Commission for Scheduled Tribes?
Options:

1. % Anasuya Uikey

2. % Rameshwar Cran

= % Urmila Singh

4 ¥ Mand Kumar 5ai

Question Number : 18 Question Id : 79840725407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 79840725408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who won the French Open 2017 1 rmuxed doubles category?

Options:

1. % Gabriela Dabrowski & Rohan Boppanna
2. % Martina Hingis & Leander Faes

Z. % Sania Mirza & Ivan Dodig

4. %  Dellagua and Rajiv Ram

Question Number : 19 Question Id : 79840725408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 79840725409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which courntry won the Azlan Shah Hockey Cup, 20177

Options:
1. # India

o % aystralia
= % Great Britain
4 % Palkistan

Question Number : 20 Question Id : 79840725409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 79840725410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
who was the head of the Government of India panel constituted to review the FREM Act?

Options:

1. ¥ N K Singh

2. % Urjit Patel

Z. % Sumit Bose
4, % Rathin Roy

Question Number : 21 Question Id : 79840725410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

De36DJo (FRBM) e3¢y e PODE Do Dmhe:u D2 e (8208) & eICLEIINT DD
Ea“:ld;n?

Options:
&
| o) S o

Eabed He3ed
= ® &

= % 200060 65°0
4% Trede) TPOID

Question Number : 22 Question Id : 79840725411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
WWhat 15 GSTHY

Options:

1. ¥ 4 partnership providing IT infrastructure and services for GST

2 ¥ & non-profit, non-government company providing IT infrastructure and services for GST
3. ¥ A povernment company providing IT infrastructure and services for GST

4. % 4 network owned by Ministry of Finance for GST services

Question Number : 22 Question Id : 79840725411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 79840725412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Apart from Iron and MNickel, which of the following element is an important constituent of inner core of earth?
Options:

1. # Magnesium

2 # Calcium

2 ® Cobalt

4 ¥ Silicon

Question Number : 23 Question Id : 79840725412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 79840725413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which organization brokered the Indus Water Treaty betweern India and Pakistan?
Options:

1. ¢ The World Bank

2. % The Commonwealth Foundation

Z. % The Aga Khan Foundation

4 ® UNDP

Question Number : 24 Question Id : 79840725413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 25 Question Id : 79840725414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The theme of World Wetlands Day, 2017 celebrated in February, 2017 is?

Options:

1. # Kidneys of Landscape

2. % Eiological Supermarkets

=, ¥ Wetlands for Disaster Risk Reduction

4. % Conservation of liquid assets

Question Number : 25 Question Id : 79840725414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 79840725415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
From which Country power is imported by India?

Options:

1. ¥ Nepal

2 ¥ Bhutan

% % Bangladesh

4. % India does not import power

Question Number : 26 Question Id : 79840725415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 79840725416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which is the basic building block funit of all living things?

Options:

1.9 Cell

2. % Nucleus
2 % DNA

4. % Chromosome

Question Number : 27 Question Id : 79840725416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 79840725417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Few decades ago, DDT was used to kill mosquitoes. Later, in the recent years, it became very difficult to kill
mosquitoes using DDT. Which principle explains the immunity of mosquitoes from DDT?

Options:

1. # Theory of Natural Intervention
2. % Theory of Imrmunity

% % Predator-Frey theory

4. % Theory of Matural Selection

Question Number : 28 Question Id : 79840725417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 79840725418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhich of the following is a viral disease?

Options:

1. % Malaria

2. % Typhoid
3. ¥ Herpes

4. % Diphtheria

Question Number : 29 Question Id : 79840725418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 79840725419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat 15 Hydroponics?

Options:

1. % Science of estimating water level

2. ¥ Growing plants in sand, gravel or liquid with mineral nutrients and without scil
% % Science of finding cut underground water flows

4. % sScience of plants floating in water

Question Number : 30 Question Id : 79840725419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 79840725420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following are generally formed in combustion of saturated hydrocarbons?

Options:

1. % Carbon, Water and Heat

2. % Carbon and Heat

= % Carbon Dicxide, Water and Heat

4. % Carbon dioxide and heat only

Question Number : 31 Question Id : 79840725420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 32 Question Id : 79840725421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is used as a lubricant?

Options:

1. ¥ Graphite
2 % wood

3. % Steel

4. % Tungsten

Question Number : 32 Question Id : 79840725421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 79840725422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhy a bird standing on a high voltage cable does not get electric shock ?
Options:

1. % The body of a bird is resistant to current flow

2. % Current follows the least path through the electric cable

% % Feathers of the bird offer protection from electric shock

4. ¥ There iz no potential difference between its legs

Question Number : 33 Question Id : 79840725422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 79840725423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the angle of vision for a normal healthy individual?

Options:
1. % 50 Degree

2. % 90 Degree
3. % 120 Degree
4, % 135 Degree

Question Number : 34 Question Id : 79840725423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: O
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Question Number : 35 Question Id : 79840725424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is attracted to the North pole of a permanent magnet?
Options:

1. % North pole of another permanent magnet

2. ¥ A piece of iron that is not a4 permanent magnet

3. % A positively charged glass rod

4. % A negatively charged rubber rod

Question Number : 35 Question Id : 79840725424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 79840725425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tooth decay occurs when pH of the mouth is?

Options:
1. ¥ Higher than 7

2 ® Lowerthan 6. 5
Z. % Higher than 6.0
4 % Lower than 5.5

Question Number : 36 Question Id : 79840725425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: O
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Question Number : 37 Question Id : 79840725426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wy is Sodium normally kept immmersed in kerosene oil?

Options:

1. ¥ Kerosene cil is a good preservative

2. % To prevent Sodium to absorb meisture in atrmosphers
= ¥ In open air Sodium explosively reacts with oxvgen

4. % Sodium remains soft in kerosene

Question Number : 37 Question Id : 79840725426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 38 Question Id : 79840725427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A man posing as goldsmith went to a house and informed the lady of the house that he will polish her gold
ornaments for a norminal amount. He dipped the ornaments givenl by her in a solution called royal water and
they sparkled like new. After he left, the lady weighed the ornaments and found that they reduced in weight.
what could be the solution?

Options:

1. % Agua regia

2. % Oil of Vitricl

= % iqua fortis

4. % Eleach Solution

Question Number : 38 Question Id : 79840725427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 39 Question Id : 79840725428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

High Eiological Oxvygen Demand (BOD) indicates?
Options:

1. ¥ High level of Microbial Pollution

2. % Low level of Microbial Pollution

% % aApsence of Microbial Pollution

4. % water is fully pure

Question Number : 39 Question Id : 79840725428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 40 Question Id : 79840725429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Kigali &Agreement modifies which of these previous multi lateral agreements
Options:

1. % Kyoto Protocol

2. ¥ Montreal Protocol

= % Eali Action Plan

4. % Paris Agresment

Question Number : 40 Question Id : 79840725429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 41 Question Id : 79840725430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following has the least mangrove cover?
Options:

1. % Gujarat

2. % West Bengal

=. ¥ andhra Pradesh

4 # indaman and MNicobar islands

Question Number : 41 Question Id : 79840725430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 42 Question Id : 79840725431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which is the first ‘carbon neutral’ international airport in Asia-Facific?

Options:

1. # Chatrapathi Shivaji International Airport
o ® Eempegowda [nternaticnal Airport

= % Rajiv Gandhi International Airport

4. % Indira Gandhi International AIrport

Question Number : 42 Question Id : 79840725431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 43 Question Id : 79840725432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of these national parks of India is not recognized as “World Heritage Site” by UNESCO
Options:

1. #® Sunderban

= % Keoladeo

3. ¥ Gir

4. % Kaziranga

Question Number : 43 Question Id : 79840725432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 44 Question Id : 79840725433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

who is the first Indian to receive the Luc Hoffrnan Award by International Union for the conservation of
Mature and Natural Eesources {[UCH)

Options:

1. % Maneka Gandhi

2. % Dhrubajyoti Ghosh
2. #® vandana Shiva

4. % Chandi Prasad Bhatt
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Question Number : 45 Question Id : 79840725434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ir1 which country 15 the Svalbard Global Seed Vault located
Options:

1. % Sweden

Z % Finland

3. % Iceland

4. ¥ MNorway

Question Number : 45 Question Id : 79840725434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 46 Question Id : 79840725435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Zhoose the correct Intended MNationally Deterrmined Contribuations (NDC) in carbon ermssions under the Paris
Climate Charge Agreement set by India

Options:
1. % 33-3E Per cent below 2005 levels by 2030
= % 20-2E5 Per cent below 1990 levels by 2020

3. % 23-2E Per cent below 2000 levels by 2020



4. % 15-20 Per cent below 1990 levels by 2030

Question Number : 46 Question Id : 79840725435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
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Question Number : 47 Question Id : 79840725436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is not an example of an Ecotone

Options:

1. ® River Bank
2. ¥ Teak Forest
% % Mangroves

4 % Marshland

Question Number : 47 Question Id : 79840725436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 48 Question Id : 79840725437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The preserce of high coliform counts in water indicate
Options:

1. ¥ decreased biological oxygen dermand



= % phosphorus contarmination
3. * hydrocarbon Contarmination

4 ¥ contarmination by hurman wastes

Question Number : 48 Question Id : 79840725437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 49 Question Id : 79840725438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Puga valley identified b v the Geological Survey of India has as the most promising field for geothermal power
generation is located in the following region

Options:

1. # Shivaliks
2. % Garhwal
2. ¥ Ladakh

4 % Malwa
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 50 Question Id : 79840725439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Coral Eleaching is associated with removal of



Options:

1. ¥ Zooxanthellas
2. % Azotobacter
3. #* Paenibacillus
4. # Ehizobia

Question Number : 50 Question Id : 79840725439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 51 Question Id : 79840725440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one is not a rajor port on the West Coast ?
Options:

1. ¥ Cuilon

= % Kochi

2. ® Mumbai

4. % New Mangalore

Question Number : 51 Question Id : 79840725440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 52 Question Id : 79840725441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of these is an active volcano

Options:



1. #* HMarcondarm Island Volcano
2. % Barren [sland Volcano
3. % Dhinodhar Mountain

4 % Tosharm Hill

Question Number : 52 Question Id : 79840725441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 53 Question Id : 79840725442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhich of these storms is land based

Options:

1. * Hurricane
= % Tvyphoon

2 % willy - Willy
4. % Tornado

Question Number : 53 Question Id : 79840725442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 54 Question Id : 79840725443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which organization regularly conducts mock exercises of disaster managfement in various parts of the
Courntry’

Options:



1. ¥ NDRF
2. ® Disaster Training Centre
3. % District Administrations
4. % NDMA

Question Number : 54 Question Id : 79840725443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 55 Question Id : 79840725444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
India’s first Earthquake early warning System is installed in

Options:
1. # Himarhal Pradesh

2. % Uttarakhand
3. % Gujarat

4 % Jamru and Kashroir

Question Number : 55 Question Id : 79840725444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 56 Question Id : 79840725445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the name of disaster Management exercise held at Visakhapatnam for preparedness in case of a super
Zyclone



Options:

1. % Prakampana
2. % Parashakti
= % vayusiddha
4. % Samay

Question Number : 56 Question Id : 79840725445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 57 Question Id : 79840725446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of these is not a flood prevention and mitigation strategy?

Options:

1. # Depopulating the flood plains
2. ¥ Deindustrialization along rivers
3. % Afforestation

4. % Decongesting river channels

Question Number : 57 Question Id : 79840725446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 58 Question Id : 79840725447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In a cyclone in northern hemisphere, air circulates swiftly inward in?
Options:

1. * Random direction

2 % Clockwise direction

3. ¥ Anti clockwise direction

4. % Ajr remains still

Question Number : 58 Question Id : 79840725447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 59 Question Id : 79840725448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Howr mach percentage of the Geographical area of India is flood prone (choose nearest walue out of the given
[ a1 Lokt

Options:

1. ® 326 Per cent
= % 24 Per cent
3. % 18 Per cent
4. % 12 Per cent

Question Number : 59 Question Id : 79840725448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



which type of disaster is "Avalanche”?
Options:

1. % Geclogical

= % Hydrological

2. ¥ Hydro Geological

4. % Geo Climatological

Question Number : 60 Question Id : 79840725449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 61 Question Id : 79840725450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first ever disaster management exercise on forest fires was held in April, 2017 at?

Options:
1. ¢ Uttarakhand

2. % Madhva Pradesh
3. % Chattisgarh
4. % Karnataka

Question Number : 61 Question Id : 79840725450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

DDA DOETeS ‘rbafacge:béﬁ PASIMT, 208 NG Fd BEHVS” SBNINO D (R
SG{E050 D2, 2017 &° Ig) ¢ 20H06?

Options:

| v GST ok

S0 FeTnt:)

2 %

38D 6E

3 ®

- SUTS
4 ® B

Question Number : 62 Question Id : 79840725451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In1 Morth India, heat waves normally occur in the following period?
Options:

1. * April to May

= % April to June

3. ® March to May

4. % March to June
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Question Number : 63 Question Id : 79840725452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the name of the operation in which the blockage due to snow landslide debris in a river in Kargil area
is removed using explosives to prevent flash floods?

Options:

1. % Operation Suru

= % Operation Phulktal
Z. ® Cperation Dras

4. % COperation Tsarap

Question Number : 63 Question Id : 79840725452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 64 Question Id : 79840725453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which Rock systern in India has most of the coal reserves
Options:

1. * Dharwar

= % Vindhvan

3. ¥ Gondwana

4. % Tertiary

Question Number : 64 Question Id : 79840725453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 65 Question Id : 79840725454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
O1d alluvial soil on slightly elevated locations 1s called as

Options:

1. % Bhangar
Z % Khadar
3. ® Regur
4. % Bhabhar

Question Number : 65 Question Id : 79840725454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 66 Question Id : 79840725455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Largest Mica producing state in India

Options:

1. ¥ Rajasthan

Z ¥ Andhra Pradesh
2. #* Tharkhand

4. % Chattisgarh

Question Number : 66 Question Id : 79840725455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 67 Question Id : 79840725456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The wariety of Iron ore with the highest quality is

Options:
1. ¥ Limonite

2. % Siderite
3. #® Magnetite
4 % Hermmatite
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Question Number : 68 Question Id : 79840725457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& leaf of a tree adapted to a warm dry climate is:

Options:

1. # Large and thin
Z % Large and thick
2. ¥ Small and thick

4. % Small and thin
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 69 Question Id : 79840725458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The farnous pass in Sikkim which is used by pilgrims going to Manasarovar till recently before China
suspended tourist travel in the route?

Options:

1. % Zaojilla

= % MNathu La

2. # Khardung La

4 % Jarala
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
B & A DS Do, KGR )0 S° & 2ar(B SRAD0MET D7D 2DBS6

Qi@ DY) TED?
Options:
| x Bder

E_quife.r"

_ arddoh e
3w @



Question Number : 70 Question Id : 79840725459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of these products does not have Geographical Indicator (GI) status
Options:

1. ¥ Tapeswaram Kaza

= % Bobbili Veena

2. ® Banganapalle mangoes

4. % Mangalagiri Sarees
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Question Number : 71 Question Id : 79840725460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich of these is not a tributary of River Godawvari

Options:

1. % Pravara
= ¥ Kovna
3. % Purna
4. % Manair
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Question Number : 72 Question Id : 79840725461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the correct Colour—Cormrnodity option related to Rainbow Revolution (food area)

Options:

1. % Yellow - Fruits

= % Golderi- Oil seeds
3. ¥ Silver- Eggs

4. % Brown- Fertilizers

Question Number : 72 Question Id : 79840725461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 79840725462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MNational Waterway 1 connects
Options:

1. % Sadiva-Dhubri

2. % Kakinada-Puducherry
3. # Kottapuram-Kollam

4 % Allahabad-Haldia
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Question Number : 74 Question Id : 79840725463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of these waterfalls is located in Andhra Pradesh
Options:

1. # Dudhsagar Falls

2. % Talakona Falls

3. % Kalahasthi Falls

4 * Shivasamudram Falls

Question Number : 74 Question Id : 79840725463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 79840725464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of these is not part of the Eastern Ghats
Options:

1. ¥ Satmala Hills

= % Siurmalai Hills

2. * Velikonda Hills

4. % Pallonda Hills

Question Number : 75 Question Id : 79840725464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 76 Question Id : 79840725465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Panchmarhi Biosphere Reserve is located in
Options:

1. % Jharkhand

2. % Chattisgarh

= ¥ Madhva Pradesh

4 % ttar Pradesh
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Question Number : 77 Question Id : 79840725466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Eiodiversity Hotspots are characterized on the basis of:
Options:

1. % Endemic flowering plant and threat perception

2. % Species of flowering plants

% % Endernic flowering plant

4. % Diversity of plants
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Question Number : 78 Question Id : 79840725467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which type of cormmunity, the number of species per unit area will be more

Options:

1. ® Temperate forest
2. % Deciducus forest
3. ¥ Tropical rain forest

4. % Taiga forest

Question Number : 78 Question Id : 79840725467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 79 Question Id : 79840725468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The juncticn of North-5outh and East-West corridor highways is at
Options:

1. % Gumlior

2. % Nagpur

Z. % Bhopal

4. ¥ Jhansi
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Question Number : 80 Question Id : 79840725469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A5 per Government specifications, what is the desirable range of pH value for drinking water in India?
Options:

1. % 6to 75

Z % Eto R

3. ¥ E5t085

4 % BE5t08
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Question Number : 81 Question Id : 79840725470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which 15 the most exploited river in [ndia in terms of abstraction of available water?
Options:

1. % Godawvari

2. ¥ Cauvery
2. % Krishna

4. % Ganga

Question Number : 81 Question Id : 79840725470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 82 Question Id : 79840725471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is the correct descending order of coffee producing states in India?
Options:

1. % Karnataka > Kerala > Tamil Nadu

2. ¥ Karnataka » Andhra Fradesh > Tamil Nadu

Z. % Kerala » Karnataka > Assam

4 # Karnataka > Tamil Nadu > Kerala

Question Number : 82 Question Id : 79840725471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 83 Question Id : 79840725472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Uranium deposits in India were first discovered at
Options:

1. ® Tummealapella

= % Umbra

2. ¥ Jaduguda

4. % Lambapur
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Question Number : 84 Question Id : 79840725473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Inn 1767, the British Farliament passad an act obtaining the East India Cormpany to pay to the British
Government per year a surm of

Options:

1. % £200,000
2. % £300,000
3 ¥ £ 400,000
4. % £500,000

Question Number : 84 Question Id : 79840725473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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. % £ 200,000

, % £ 300,000
. « £ 400,000

, » £ 500,000

Question Number : 85 Question Id : 79840725474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
After 1813, the British policy towards trade in [India was?

Options:

1. ® Restricted trade

Z ¥ Cne way free trade
3. % Two way free trade

4. % Monopoly trade
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 86 Question Id : 79840725475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which vear East India company acquired the Diwani rights over Bengal?
Options:

1. ® 1757

= % 1780

3. % 1763

4. ¥ 1785
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 87 Question Id : 79840725476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In which of the following areas, Mahalwari Revenue settlement was introduced?

Options:

1. % Purjab and Northwest provinces
2 % Berigal and Bihar

3. % Crissa

4. % Madras
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Correct: 1 Wrong: 0
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In which of the following places Warren Hastings set up a Madarasa in 1731,
Options:

1. ®* Dhaka

= % Delhi

3. ¥ Folkata

4. # Lucknow

Question Number : 88 Question Id : 79840725477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 89 Question Id : 79840725478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwho among the following attacked Erahmanical orthodoxy and tried to reform Hinduism in Eombay?

Options:

1. % BEal Gangadhar Tilak

2. # Vishnu Shastri Chiplunkar
2. % Gopal Ganesh Agarker

4. % BEal Shastri Jambhekar

Question Number : 89 Question Id : 79840725478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 90 Question Id : 79840725479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Rahanumai Mazdayasan Sabha was started to reform?

Options:



1. % 5ikhs
= % Muslims
3. ¥ Parsees

4. % inglo-Indians.
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Question Number : 91 Question Id : 79840725480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

At which place in 1863 Moharmmadan Literary Society was founded to encourage reform, modern [deas and
Western education i Muslims.

Options:

1. ¥ Kolkata
2. % Aligarh
% % Lahore

4. % Bombay
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Correct: 1 Wrong: O



The Deccan Agriculturists Relief Act of 1879 provided protection for the peasants against the exploitation by
the

Options:

1. % Land lords

2. % Government Officials
Z. % Planters

4. ¥ Money lenders
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Question Number : 93 Question Id : 79840725482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Berigal United is power. Bengal divided, will pull several different ways'. Who of the following made the
staternent?

Options:
1. ¥ Curzon

2 % Minto
% % Hardinge
4 ¥ Risley
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 94 Question Id : 79840725483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identity below the cause of the dispute between mill owners and workers, which led to the mill workers strike
in 1317 at Ahmedabad.

Options:

1. ¥ Dearness allowance
2. % Overtime Allowance
Z. % Health allowance

4. % Plague Bonus
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Question Number : 95 Question Id : 79840725484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

who among the following wrote The philosophy of the Bomb’
Options:

1. % Chandrasekhar Azad

2. ¥ Bhagawati Charan Vohra

% % Earindranath Ghosh

4 # Syukhdev
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Question Number : 96 Question Id : 79840725485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An American Journalist, Webb Miller gave a detailed account of the salt Satvagraha of which one of the places.
Options:

1. ® Dandi

2. % Sanikatta

% % Balasore

4 % Dharasana
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Question Number : 97 Question Id : 79840725486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Judicial Review is a symbol of

Options:

1. % Parliamentary Governmernt
2. % Presidential Government
% % Unitary Government

4 % Federal Government
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Question Number : 98 Question Id : 79840725487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In India a person can be a Member of Cabinet without being a Member of Parliament for a maxirmurm period of
Options:

1. ¥ Six weeks

2. % Six months

3. ¥ Nine months

4. % Cne year
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 99 Question Id : 79840725488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Whose previous consent is required under Article 2244 of the Constitution to request a person who held the
office of a judge of the same or any other High Court to sit and act as a judge of the High Court for that State ?

Options:

1. % The Fresident
2. % The Parliarment
Z. % The Governor

4. % Chief Justice of India

Question Number : 99 Question Id : 79840725488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 100 Question Id : 79840725489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following Parliamentary Corumittees in India acts as a “Watchdog’ on Departmental
Expenditures and irregularities?

Options:

1. % Estimate Cormrmittes

2. % Committes on Public Undertakings
Z. ¢ Public Accounts Committes

4. % Comrmittee on Public Assurances

Question Number : 100 Question Id : 79840725489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 101 Question Id : 79840725490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The doctrine of ‘the Easic structure of the Constitution’ as a principle of Judicial Review
Options:

1. % accepts the theory of supremacy of Courts

2. % Accepts the theory of supremacy of Legislature

3. % assumes the power of judging the Legislature on all matters

4. % |3 strictly in accord with the Principle of Procedure established by Law

Question Number : 101 Question Id : 79840725490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 102 Question Id : 79840725491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The 73rd Constitutional Amendment Act is not applicable to which of the States given below?

Options:

1. # Nagaland and Mizorarm only

2. % Jammu Kashmir and MNagaland only
3 ® Jarmrm Fashrrir and Mizoram only

4. % Mizoram, Nagaland and Jammu and Kashmir

Question Number : 102 Question Id : 79840725491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 103 Question Id : 79840725492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What would be the consequence if the State Governments fail to comply with the directions of the Central
Government with regard to the exercise of their Administrative Power?

Options:
1. # The President can send Centre Reserve Police Force for the implementation of directions.

2. % The President can declare a Constitutional Emergency in the State and assume all the powers of the state
EOWErTIITIENES.

Z. % The President can declare a National Emergency convert the Federal structure into a unitary one.

4. % None of the given options

Question Number : 103 Question Id : 79840725492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 104 Question Id : 79840725493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Suprerme Court of India is different from its counterpart in the 11 5. &

Options:

1. # In its role as the guardian of the Constitution

2. ¥ In its advisory role

Z. % Inits role as the Supreme authority in the Judicial field in the Country

4 % [0 its Writ Jurisdiction

Question Number : 104 Question Id : 79840725493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 105 Question Id ;: 79840725494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Some of the fundamental Rights guaranteed in the Indian Constitution can be suspended only by

Options:

1. % 4 proclamation of National emergency
2. % Anv act passed by the Lok Sabha

3. % Government Notification

4. % The judicial decision of the Supreme Court.

Question Number : 105 Question Id : 79840725494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 106 Question Id : 79840725495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

where there is conflict between the Concurrent List and the State List
Options:

1. % Matter will be referred to the speaker of Lok Sabha

2. % Matter will be referred to the President

=. ¥ Concurrent List shall prevail

4. % State List shall prevail

Question Number : 106 Question Id : 79840725495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 107 Question Id : 79840725496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is not true about Rights of Minorities?

Options:

1. ® Minority status is determined by the demography of the State.
2. % They hawve right to establish their own Educational Institutions.
% ® Minority Rights aim at ensuring equality

4. % Mincrity Rights are absolute

Question Number : 107 Question Id : 79840725496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 108 Question Id : 79840725497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Justice P N Bhagwati was a picneer of?
Options:

1. % Public Interest Litigation

2 # Judicial Review

% % Fundamental rights

4 # Land reforms

Question Number : 108 Question Id : 79840725497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 109 Question Id : 79840725498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwho used the term “Hindu rate of growth” with reference to Indian econormy and why™?

Options:

1. ¥ Mahalanobis to describe the faster growth rate
2. ¥ Raj Krishna to describe the stagnant growth rate
% % Amartya Sen to describe the inequality in growth

4. % v ¥.E.V.Rao to describe the general groweth rate

Question Number : 109 Question Id : 79840725498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 110 Question Id : 79840725499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the fOllOwiﬂg was constituted to deal with taxation of ElgriCU.ltuI‘Ell wiealth and income in India?
Options:

1. % John Mathai Cormmittes, 1953

2. ® Kaldor Cormrmittee, 1956

% % wanchoo Comrmittes, 1971

4. ¥ Raj Committes , 1972

Question Number : 110 Question Id : 79840725499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 111 Question Id : 79840725500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which cormmittee suggested to establishment of an ‘Tnsurance Regulatory Authority’ in India?

Options:
1. ¥ Dandekar Cormrnittes

2 % Malhotra Cormrnittee
= ¥ Khusro Corrnittee

4. % Rangrajan Committee

Question Number : 111 Question Id : 79840725500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 112 Question Id : 79840725501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which city of Andhra Pradesh, The Raashtriva Vayoshree Yojana was launched on 1st April, 20177

Options:

1. ¥ Visakhapatnam
2. % Guntur

=, ¥ HNellore

4, % asnanthapur

Question Number : 112 Question Id : 79840725501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 113 Question Id : 79840725502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

who fixes the benchrmark policy rate (repo rate) in India
Options:

1. # Ministry of Finance

2. % Monetary Policy Cormmittes

2. ¥ Internal Committee of REI

4 # State Bank of India

Question Number : 113 Question 1d : 79840725502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 114 Question Id : 79840725503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the target inflation rate notified by Government of India in August, 2016 for the period till 21st March,
Zoz217?

Options:

1. 9 4 Per cent
2. % 35 Per cent
% % 3 Per cent
4. % 25 Per cent

Question Number : 114 Question Id : 79840725503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 v 4%

> % 3.5%
= # 3%
L % 25%

Question Number : 115 Question Id : 79840725504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What 15 the present installed nuclear power Capacity in India?

Options:

1. % 5620 MW
o % 7EE0 MW
3. % 5340 MW

4. ¥ 780 MW

Question Number : 115 Question Id ;: 79840725504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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| % 5620 MW
5 % 7560 MW

- % 8340 MW
4« 6780 MW

Question Number : 116 Question Id : 79840725505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which year, the construction of the Nagarjuna Sagar dam was completed?

Options:
1. % 1957

> ® 1951
. ¥ 1957
4 ® 1971

Question Number : 116 Question Id : 79840725505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

. %1957

> % 1961
. » 1967

4 % 1971

Question Number : 117 Question Id : 79840725506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich state is the largest producer of Bt cotton in India

Options:
1. ¥ Maharashtra

2. ¥ Gujarat
= % Andhra Pradesh
4 % [Jttar Pradesh

Question Number : 117 Question Id ;: 79840725506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 118 Question Id : 79840725507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The "Inclusive India initiative” launched by the Ministry of Social Justice and Empowerment is aimed at?

Options:

1. % Bringing people with intellectual and developmental disabilities into mainstream
2. % Wornen empowerment to ensure equal opportunities for wormen

Z. % Erining Primitive Tribal Groups into national mainstrearm

4. % Helping people of the third gender to obtain gainful employment

Question Number : 118 Question Id : 79840725507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 119 Question Id : 79840725508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Under the Bringing Green Revolution to Eastern India Scheme, improvement in productivity of which crop is
achieved?

Options:

1. % Wheat

2. ¥ Paddy

% % Bengal gram
4 ® Maize

Question Number : 119 Question Id : 79840725508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 120 Question Id : 79840725509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How much percent of the total outstanding debt of DISCOMs is covered till date under the UDAY Scherme?

Options:

1. ¥ 36 Per cent
2. % 90 Per cent
% % 95 Per cent

4 % 97 Per cent

Question Number : 120 Question Id : 79840725509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 % 86%

> % 90%

z % 95%

4 « 97%

Question Number : 121 Question Id : 79840725510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
what is the share of Andhra Pradesh in Krishna waters as per the allocation of Krishna Water Tribunal?

Options:
1. % 512 TMC

o ® 212 TMC
3 ¥ 299 TMC
4 ¥ 5gg TMC

Question Number : 121 Question Id ;: 79840725510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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> % 312 TMC
5 % 299 TMC

4 % 599 TMC



Question Number : 122 Question Id : 79840725511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

At how many places telemetry meters would be installed by the Krishna River Water Management Board to
monitor the usage of water by both the State of AP and Telangana?

Options:
1. % 139
= % 2B
3.9 47
4 % 55

Question Number : 122 Question Id : 79840725511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 123 Question Id : 79840725512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
As per AP Vision 2023, what 15 the expected per capita incormne in Andhra Pradesh by 20297

Options:
1. #¥ Rs 2. 95 lakhs

> % Rs 557 lakhs
= % REs 961 lakhs
4 % Rs 125%lakhs

Question Number : 123 Question Id : 79840725512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 124 Question Id : 79840725513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



What is the rmaximum armount of relief available to a farmer in AP on account of "Raithu Buna Mafi Scheme”
implementad by Government of AP7

Options:

1. % Rs 50,000
= % Rs 75,000
3. % Rs1,00,00
4. % Rs 1,50,000

Question Number : 124 Question Id : 79840725513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
. % G750,000

5 % G75,000

- % @ 1,00,00

4 doe 1,50,000

Question Number : 125 Question Id : 79840725514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which city of Andhra Pradesh, Urdu University is recently started?
Options:

1. % Kurnocl

= % Kadiri

2. *® Kadapa

4. % Ananthapur

Question Number : 125 Question Id : 79840725514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 126 Question Id ;: 79840725515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which section of the AF Recrganization Act, 2014 permits continuance of officers in the same post in which
they were working earlier, even after recrganization?

Options:



1. # Section 78
2. ¥ Section 79
% % Section 80
4. % Section 81

Question Number : 126 Question Id : 79840725515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 127 Question Id : 79840725516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Wwhich section of the AP Reorganization Act, 2014 determines the manner of division of assets of Public Sector
Undertalangs?

Options:

1. # Section 51
2. % Section 52
3. ¥ Section 53

4 % Section 54

Question Number : 127 Question Id : 79840725516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 128 Question Id : 79840725517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Howr the treasury and bank balances are o be distributed between both the States as per the AP
Feorganization Act, 20147

Options:

1. % Transfer of Cash from one treasury to other

2. ¥ Adjustment of credit balances of the two states in the books of REI
% % Payment in installments

4. % Any convenient method to be followad
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2065 o) DT 20Es SIS ?

Options:

. ® 2,8 P Aot QoFE rDS H0cH o Soird

v Dot D‘jgi"f‘_)g_‘r dabq erjos O ey araTeeres” &) Dogorn Dderen Boird

- 2cese) IO ooz d

DB e9RNETRIDND DI areoerd

Question Number : 129 Question Id : 79840725518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Delimitation of the constituencies as proposed in the AP Reorganization Act, 2014 can be effected through?
Options:

1. ¢ amendment of Article 170 of the Constitution

2. ® Notification by Central Government is enough

Z. % Passing of resolution by the respective assemblies

4. % Till 2026 no delimitation is possible

Question Number : 129 Question Id : 79840725518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e90() DT @:35&55?8.%@93 5000, 201465° HDAJPGODD HSCCAD DATREITO 3DHOH2S Saireos?

Options:

v maaugoﬁmﬁa eaE0eaa 170 D Habooed
1.

Sog DO DI DY DD

, 0ot T PBED €35 €95 e‘iaw&mnw Hasrd)
2,

2026 S0 2B SISO
4 ®

Question Number : 130 Question Id : 79840725519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

What 15 the amount deterrmuned by 14th Finance Corrmussion to AP as grant under the State Disaster Kesponse
fund?

Options:

1. ¥ Rs 2492 Cr
o % Rg 2785 Cr
3. % Rs3450Cr

4 ® Rs 1952 Cr

Question Number : 130 Question Id : 79840725519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
0°g) D0 DB DG S0, 145 905 DoaVAD), €50Q 20T D“QDKJQ DO RIFODAD  AGoVoI0H?

Options:
| o O 2492 Een

L w O 27858en

dr 3450 &en
3 ® o

, w O 1952 8%

Question Number : 131 Question Id ;: 79840725520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Kamala leaves home at 11 AM on bicycle. She goes at 12 kilometers per hour (kmph) and reaches the house of
Arnala at 11:30 AM. She leawes the bicycle there and iwmmediately wallks back and reaches her home at 1:00
Ph. At what speed she walled back to horme?

Options:

1. ¥ 4 kmph
2. % 4.5 kmph
% % 4.5 kmph
4 % 4.9 kmph

Question Number : 131 Question Id : 79840725520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
S0 000G EG0HAW 11 fotresH 235 3 waten B, fotth 12 3e5°Meg Dricnd 11:30 3 esve)

Q003 D0ob. PSS I E) C DOD DY, DoLD S QoHS DCOYP TP O o) (olh I0ed.

200 9063 Do Do SEDoH?

Options:

| o (o 4 3e5°D0ead
Ly (100 4.8 35"k
L (1005 4.5 3e5° e

L % (005 4.9 85700



Question Number : 132 Question Id : 79840725521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rahim got 91, 88, 86 and 78 marks in four out of the five subjects. How many marks, he should get in the
fifth subject to attain an average of 85 marks?

Options:
1. % B8
2. % g%
3. % B4
4 ¥ 82

Question Number : 132 Question Id : 79840725521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Gard & e0B0eS’, Trend HiHEES® 91, 88, 86 2BOID 78 ) €N BT AN, DB DI

20°00) 60 85T 0o, B3 DD DY Ay Sra)en Tard?

Options:

T 84

4 v 82

Question Number : 133 Question Id : 79840725522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhat is the relation of Eam’'s mother's brother's only sibling's daughter with Rarm?

Options:

1. % Aunt
= % Cousin
3. % MNeice
4. ¥ Sister

Question Number : 133 Question Id : 79840725522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TP G308, &Y 0 FOMmIS &) 2,8 2.8), Fenna) IV, Erad TPad & DaBood

Options:

133@'@'

= F S&:«EJ
SN cen

3%

4 o 0D

Question Number : 134 Question Id ;: 79840725523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



If BEARK becomes YZIF, then SHOUT is?
Options:

1. ¥ HSLFG

= % ITMGH

3. % HRMGI

4. % IRLGH

Question Number : 134 Question 1d : 79840725523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
BARK €z0¢€ YZIP e90008%, SHOUT Dananeinod?

Options:
1 ¥ HSLFG

> % ITMGH
5 % HRMGI

, % IRLGH

Question Number : 135 Question Id : 79840725524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e everling, just before Sunset, David was standing facing a pole. The shadow of the pole fell exactly to his
left side (perpendicular to the line between him and the pole). Which direction was he facing?

Options:

1. ® South East
2. % South

3. % MNorth

4. % East

Question Number : 135 Question 1d : 79840725524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2.8 Jrotidoga, RPORRAD00PS DOTP Ao, B 28 ROIADDD ST DRVNT) €. €3 D0

D e9e3 D3 BT DY) DB (S BT 0B DG D) Hess eroed Eraor). e9¢ss
2 B3 AFRF DSHD &) ?

Options:
) éﬁmaém
1 =

a
5 of Q2300

z ® &0000

4 % Ei‘ﬂ”{jjh

Question Number : 136 Question Id ;: 79840725525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Find the odd number of the given numbers: 13, 23, 33, 43, 537
Options:
1. ® 53
> % 23
3. % 43
4 ¥ 33

Question Number : 136 Question Id : 79840725525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AN ?i::o;_asmeﬁ‘ 2OV DD (bBodod 13, 23, 33, 43, 537

Options:

oW 23
o 43
4.\-;"33

Question Number : 137 Question Id : 79840725526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If today is Monday, what day will it be 248 days from today fexcluding today)?
Options:

1. ¥ Saturday

= % Sunday

2. * Monday

4. % Friday

Question Number : 137 Question Id : 79840725526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& B Fonarcdan esandd, 348 Arer edcaared 3y Her Daaenod (& Hexcd H6O 28)

Options:
n Tl Gadld

o % POTOD

¥ aVaTrCald
= F

4% 28 aoPCa)

Question Number : 138 Question Id : 79840725527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If India is called Bangladesh, Bangladesh is called China, China is called Taneania, Tanzania is called Pakistan
and Pakistan 15 called Sri Lanka, then which country 1s not our neighbor courntry?

Options:
1. % China



2 % Tanzania
3. % 5riLanka
4+ Pakistan

Question Number : 138 Question 1d : 79840725527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2GS D LOTrdT 09D, LOTH? D D D), BTPD EroErI0IT €99, Ereardaird AP ) dudain

FEAFD D Foos 9D DI, 30H TS’ D Do a0 D Do TEO?

Options:

1 % 2Rr

5 % EPORPIOIT

2 % EUGS

4 o IS

Question Number : 139 Question Id ;: 79840725528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Find the mean of the given numbers?

100 | 200 | 100 | 300 | 400 | 100 | 300 | 500 500 600

Options:
1. % 300

= % 310
3 ® 320
4 # 330

Question Number : 139 Question Id : 79840725528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

raa&smdé "n:noaJ{:]tJ ea08 mémm) g0 D0 ?

100 | 200 | 100 | 300 | 400 | 100 | 300 | 500 500 600

Options:
. % 300

5« 310
- % 320

, = 330

Question Number : 140 Question Id : 79840725529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Find the mode (s) of the given distribution?

Number of
students

Marks 10 20 30 40 50 60 70 80 90

1 o 40 20 75 75 40 30 10

Options:
1. % 75

2. ¥ 50, B0
3. % 40
4. % 30, 70

Question Number : 140 Question Id : 79840725529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
QDGRICR DETEIADM) 20300, T OI0E), EPETOFEDD (©)R) S0fTH06.?

S.’Jc:s“zggjv

R)o;:n&

ey Ko 10 20 30 40 50 60 70 30 90

Options:
L % 75

, & 50,60

ST ] 40
4 % 30,70

Question Number : 141 Question Id : 79840725530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the Median of the given data?

100 | 200 | 100 | 300 ( 400 | 100 ( 300 | 500 200 600

Options:

1. % 400
Z % 500
3. ¥ 200
4. % 100

Question Number : 141 Question Id : 79840725530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AN DRSS D03 DG ST S0 ?

100 | 200 | 100 | 300 | 400 | 100 | 300 | 500 500 600




Options:
1 ® 400

> % 500
=« 300
g W 100

Question Number : 142 Question Id : 79840725531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the next number in the sequence: 2, &, 20, 870, 7

Options:

1. ¥ 705020
2. % 754070
= % 705040

4. % FSE030

Question Number : 142 Question Id : 79840725531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
QOCRICR DoaRe ga0a0e5" s D3y D ool 3, 6, 30, 870, 7

Options:
. % 705020

5 % 754070
- % 708040

4 « 756030

Question Number : 143 Question Id : 79840725532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out?

Options:

1. % Horse
2 % Buffalo
2 % Oy

4. ¥ Mule

Question Number : 143 Question Id : 79840725532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
308 ortdeS” BT DD MHbosod ?

Options:
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T W ;}({:Euh
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Question Number : 144 Question Id ;: 79840725533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If “Srnart” is to “Clever”, "Stupid” is to?
Options:

1. % awrful

= % Dumb
= ¥ Horrible
4. % Uniform

Question Number : 144 Question Id : 79840725533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“Smart” €20¢ “Clever” ea0083, “Stupid” dawaeinodd?
Options:
1 % Awful
> « Dumb

- » Horrible

L% Uniform

Question Number : 145 Question Id : 79840725534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

150. Find the missing diagram in the series?

BN DA ganaes” 2T G500 DG SoEOL0D eI LD Mbodied.?

Qe @ \yx

Options:



50
00
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ot
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Question Number : 145 Question Id : 79840725534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

BN DA Ea0a00e5° ) G50 O €060 &) B0 ?
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Options:

Sub-Section Number: 2
Sub-Section 1d: 798407210
Question Shuffling Allowed : No

Question Id : 79840725535 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



Observe the given table and answer the questions?

e Number of Students Number of Students Number of Students
securing below 60% securing below 80% securing 80% or more
School
marks marks marks
Lohit 200 230 40
Ganga 220 260 55
Godavari 300 380 20
Krishna 280 300 35
Kaveri 240 320 10
Sub questions

Question Number : 146 Question Id : 79840725536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which school has the highest number of Students?
Options:

1. # Lohit

=2 ® Ganga

2. ¥ Godavari

4 % Krishna

Question Number : 147 Question 1d : 79840725537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which school has the highest percentage of students scoring 60 Per cent or more marks?

Options:

1. ® Kaveri
2. ¥ Ganga
3. % Godawvari

4 % Krishna

Question Number : 148 Question Id : 79840725538 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which school has the lowest percentage of students scoring between 80 Per cent to below 80 Per cent marks?
Options:

1. % Kawveri

= % Lohit

3. ¥ Godavari

4. ¥ Krishna

Question Number : 149 Question Id : 79840725539 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 10 Per cent of the students in Godavari school scored marks between 70 Per cent and below 20 Per cent
marks, then how much percentage of students of that school scored less than 70 Per cent marks?

Options:
1. % 75 Per cent
2. % 30 Per cent

2. % 55 Per cent



4 % 90 Per cent

Question Number : 150 Question Id : 79840725540 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How much percentage of students scored 80 Per cent marks or more, when all the schools are put together?

Options:

1. % 8.3 Per cent
2. % 9.7 Per cent
3. % 11.4Per cent

4. % MNone of the given answers

Question Id : 79840725535 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label | Comprehension

Z0d HBED HBIDoD, HF) O BwTEVED Framod ?

N 60% S::DJ @Q}baﬁ 80% S:iﬂ;l @é}bﬁ 80% 20b0dn we@gaﬂ‘l
crgue)
S0RCD) e ;}:‘.‘}aa SLVIDY .;}8}&;3 ‘Dg%“j SULyEIY
)
EJCE“_SQJQ_} “raoapé .‘,’Jmég_w E‘boa_‘:é b&&é ;’Jmﬂégm Faoa,o_ﬁ
5% 200 230 40
fforT 220 260 55
Horsh 300 380 20
5;:%“ 280 300 35
o0 240 320 10
Sub questions

Question Number : 146 Question Id : 79840725536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2 FOTOLS” LD 0O DEFYIeD &) M7
Options:
| % Sd
5 % (lore
5 @ DD

on

Question Number : 147 Question Id : 79840725537 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

607 20B0ID 90BET) LD AT LD DN DEFFER T o) argTeed” ISIOSIT ) &7



Options:
1 # Sod

5 o (OrP

2 % B e

4.%5}%

Question Number : 148 Question 1d : 79840725538 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
607% ool 807 577) Oy TG0 AP ED €Y DTFEOO THAD o) araaeeres” eadd

@ﬁ%ﬁnﬂ &é‘l&-?
Options:

1 ® S0

, e5 aT°ed

- B e
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Question Number : 149 Question Id : 79840725539 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Aorod arosrexs” 10 T30 Dergaren 707 &vol 807 Sy @Sy D Do) en TER). €3 JroTEeeS” Jdoed
F0 DoEyen 707 87y o0 a0 en OO ?

Options:

% 75%

, % 80%

- « 85%

EE 90%

Question Number : 150 Question Id : 79840725540 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
09} FETOVD EDD SR, Jod Tdo Dergen 807 5 e08 77 DS D DG D FrOoTFE ?

Options:
| % 83%

. 9.7%
5 % 11.4%
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Group - 11 18/2016 Final key of (Paper - 1) GS & MA

S.No Question ID Answer as per Final Key
1 79840725390 1
2 79840725391 2
3 79840725392 4
4 79840725393 3
5 79840725394 2
6 79840725395 3
7 79840725396 1
8 79840725397 3
9 79840725398 2
10 79840725399 4
11 79840725400 2
12 79840725401 3
13 79840725402 4
14 79840725403 1
15 79840725404 2
16 79840725405 3
17 79840725406 4
18 79840725407 4
19 79840725408 1
20 79840725409 3
21 79840725410 1
22 79840725411 2
23 79840725412 4
24 79840725413 1
25 79840725414 3
26 79840725415 2
27 79840725416 1
28 79840725417 4
29 79840725418 3
30 79840725419 2
31 79840725420 3
32 79840725421 1
33 79840725422 4
34 79840725423 1
35 79840725424 2
36 79840725425 4
37 79840725426 3
38 79840725427 1
39 79840725428 1
40 79840725429 2
41 79840725430 3
42 79840725431 4
43 79840725432 3
44 79840725433 2
45 79840725434 4
46 79840725435 1
47 79840725436 2




S.No Question ID Answer as per Final Key
48 79840725437 4
49 79840725438 3
50 79840725439 1
51 79840725440 1
52 79840725441 2
53 79840725442 4
54 79840725443 4
55 79840725444 2
56 79840725445 1
57 79840725446 2
58 79840725447 3
59 79840725448 4
60 79840725449 28&3
61 79840725450 1
62 79840725451 4
63 79840725452 2
64 79840725453 3
65 79840725454 1
66 79840725455 2
67 79840725456 4
68 79840725457 3
69 79840725458 2
70 79840725459 1
71 79840725460 2
72 79840725461 3
73 79840725462 4
74 79840725463 2
75 79840725464 1
76 79840725465 3
77 79840725466 1
78 79840725467 3
79 79840725468 4
80 79840725469 3
81 79840725470 2
82 79840725471 1
83 79840725472 3
84 79840725473 3
85 79840725474 2
86 79840725475 4
87 79840725476 1
88 79840725477 3
89 79840725478 4
90 79840725479 3
91 79840725480 1
92 79840725481 4
93 79840725482 4
94 79840725483 4
95 79840725484 2




S.No Question ID Answer as per Final Key
96 79840725485 4
97 79840725486 4
98 79840725487 2
99 79840725488 1
100 79840725489 3
101 79840725490 4
102 79840725491 4
103 79840725492 2
104 79840725493 2
105 79840725494 1
106 79840725495 3
107 79840725496 4
108 79840725497 1
109 79840725498 2
110 79840725499 4
111 79840725500 2
112 79840725501 3
113 79840725502 2
114 79840725503 1
115 79840725504 4
116 79840725505 3
117 79840725506 2
118 79840725507 1
119 79840725508 2
120 79840725509 4
121 79840725510 1
122 79840725511 3
123 79840725512 3
124 79840725513 4
125 79840725514 1
126 79840725515 2
127 79840725516 3
128 79840725517 2
129 79840725518 1
130 79840725519 1
131 79840725520 1
132 79840725521 4
133 79840725522 4
134 79840725523 1
135 79840725524 2
136 79840725525 4
137 79840725526 E-1,T-2
138 79840725527 4
139 79840725528 2
140 79840725529 2
141 79840725530 3
142 79840725531 4
143 79840725532 4




S.No Question ID Answer as per Final Key
144 79840725533 2
145 79840725534 1
146 79840725536 3
147 79840725537 2
148 79840725538 4
149 79840725539 3
150 79840725540 2
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